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= Grey line: exponential fit Peak flux: 4.396+/- 0.026 c/s/cm? 7
B Black line: power law + gauss fit Fluence : 32.94+/- 0.19 c/cm? ]
Dashed line: power law o ) '
- Duration: 17.85+/- 1.01s n
- Best fit model: 2. ]
- Best fluence model: 2. 3
- Best duration model: 2. ]
- k | ‘ .
}\ L \‘ i M ‘ ‘ HHH H }\ H‘ & Hl }\ M ‘\}\ l
1 I | [ HHHH L 1 O B O P B RIS S
; Exponential fit =
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; Power law fit é
= Power law index: -1.673+/- 0.006 (chi’-red= 2.93) 3
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—  Power law fit plus Gaussian (st.dev.= 19.29+/- 2.62 s, fracgs= 0.02+/- 0.00) =
= Power law index: -1.708+/- 0.015 (chi*-red= 2.93) 3
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